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l’ G T E Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

Name: Datum: Ergebnis:
5,323 x 100000 = 9,033 x 100 =
4,37 x 10 = 4,716 x 10000 =
7,079 x 100000 = 5,35 % 1000000 =
5,389 x 1000000 = 4,483 x 100 =
5,223 x 10 = 4,875 x 100 =
7,132 x 1000 = 8,41 x 1000000 =
2,47 x 10 = 6,379 x 10000 =
9,452 x 1000 = 3,276 x 100000 =
8, 835 x 10000 = 3,451 x 1000 =
6,317 x 100000 = 5,99 x 10000 =
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!/ Q T Multiplizieren Sie Dezimalzahlen mit
& Zehnerpotenzen

Name: Datum: Ergebnis:
5,323 x 100000 = 532300 9,033 x 100 =903.3
4,37 x10=43.7 4,716 x 10000 = 47160
7,079 x 100000 = 707900 5,35 x 1000000 = 5350000
5, 389 x 1000000 = 5389000 4,483 x 100 = 448.3
5,223 x 10 =52.23 4,875 x 100 = 487.5
7,132 x 1000 = 7132 8,41 x 1000000 = 8410000
2,47 x 10 =247 6,379 x 10000 = 63790
9,452 x 1000 = 9452 3,276 x 100000 = 327600
8, 835 x 10000 = 88350 3,451 x 1000 = 3451
6,317 x 100000 = 631700 5,99 x 10000 = 59900
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